RES PH 16-384_16ROW FINAL2 Assmt 16032B

754 BLAIR AVENUE Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *754 BLAIR AVE *Ward: 1 *Pending as of: 2/1/2016	35-2 SYNDICATE NO. 3 ADDITION E 1/2 OF LOT 5 & ALL OF LOT 4 BLK 3	9-23-12-0111 (W1) Class 3 Residential Class 4 Residential *** Taxpayer ***	3.80 0.86	60.00	\$228.00 \$51.60 \$279.60	35-29-23-12-0111
841 BRADFORD STREE Lakes And Plains L1c 842 Raymond Ave Ste 201 St Paul MN 55114-1521 *841 BRADFORD ST *Ward: 4 *Pending as of: 2/1/2016	ST. ANTHONY PARK, MINNESOTA THE SELY 20 FT OF LOT 8 AND ALL OF LOT 9 BLK 81	9-23-42-0047 (W4) Class 2 Commercial *** Owner and Taxpayer ***	9.98	219.00	\$2,185.62 \$2,185.62	29-29-23-42-0047
241 BRIMHALL STREET Brimhall Como Investments Llc 622 Grand Ave Suite 101 St Paul MN 55105-3409 *241 BRIMHALL ST *Ward: 3 *Pending as of: 2/1/2016	10-2 VERNON'S RE OF E 1/2 OF BLK 4, LOTS 4,5,6,7,8,9,10,11, 12 OF BLK 3, E 1/2 OF BLK 5 & W 1/2 OF BLK 6 SYLVAN PK LOT 2 EX N 96 92/100 FT OF W 14 97/100 FT AND EX W 25 97/100 FT OF S 38 FT AND ALL OF	28-23-22-0183 (W3) Class 2 Commercial Class 3 Commercial Class 6 Commercial *** Owner and Taxpayer ***	9.98 7.34 0.78	67.00 137.00 0.00	\$668.66 \$1,005.58 \$0.00 \$1,674.24	10-28-23-22-0183
2130 COMO AVENUE Brimhall Como Investments Llc 622 Grand Ave Suite 101 St Paul MN 55105-3409 *2130 COMO AVE *Ward: 4 *Pending as of: 2/1/2016	20-2 SUBDIVISION OF LOTS 10 & 11 BLOCK 35 OF ST. ANTHONY PARK NWLY 1/2 OF LOT 2 AND ALL OF LOT 3	9-23-44-0108 (W4) Class 3 Commercial Class 4 Commercial *** Owner and Taxpayer ***	7.34 1.36	206.00 59.00	\$1,512.04 \$80.24 \$1,592.28	20-29-23-44-0108
1530 EDGCUMBE ROAD Paul M Dzubnar Jennifer M Dzubnar 1530 Edgcumbe Rd Saint Paul MN 55116-2301 *1530 EDGCUMBE RD *Ward: 3 *Pending as of: 2/1/2016	WEST END EDGCUMBE NLY 20 FT OF LOT 5 & EX WLY 175 FT; LOT 4 BLK 17	28-23-11-0061 (W3) Class 2 Residential *** Owner and Taxpayer ***	4.07	50.00	\$203.50 \$203.50	15-28-23-11-0061
1530 EDGCUMBE ROAD Paul M Dzubnar Jennifer M Dzubnar 1530 Edgcumbe Rd Saint Paul MN 55116-2301 *1530 EDGCUMBE RD *Ward: 3 *Pending as of: 2/1/2016) 15-2 WEST END EDGCUMBE WLY 175 FT OF LOT 4 BLK 17	8-23-11-0062 (W3) Class 2 Residential *** Owner and Taxpayer ***	4.07	100.00	\$407.00 \$407.00	15-28-23-11-0062
2005 FORD PARKWAY William J Dunnigan William J Dunnigan Trust 168 Griggs St N Saint Paul MN 55104-6407 *2005 FORD PKWY *Ward: 3	16-2 KING'S LINCOLN PARK LOTS 26 27 AND LOT 28	18-23-22-0088 (W3) Class 2 Commercial Class 3 Commercial Class 4 Commercial Class 7C 0072 ASL Commerci *** Owner and Taxpayer ***	9.98 7.34 1.36 3.63	124.00 125.00 124.00 124.00	\$1,237.52 \$917.50 \$168.64 \$450.12 \$2,773.78	16-28-23-22-0088

555 FRONTENAC PLA	CE 32-2	29-23-23-0147 (W4)				
William J Dunnigan William J Dunnigan Trustee 168 Griggs St N Saint Paul MN 55104-6407 *555 FRONTENAC PL *Ward: 4 *Pending as of: 2/1/2016	HOLLINGSWORTH ADDITION THE SELY 9 FT OF LOT 30 AND ALL OF LOT 29 BLK 16 IN DESNOYER PARK & IN SD HOLLINGSWORTH ADD LOT 3 BLK 1	Class 3 Residential Class 4 Residential	3.80 0.86	66.00 81.00	\$250.80 \$69.66 \$320.46	32-29-23-23-0147
0 GRAND AVENUE						
622 GRAND AVENUE Jrcs Investments Llc Chad W Skally 622 Grand Ave #101 St Paul MN 55105-3402 *622 GRAND AVE *Ward: 2	02-2 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA ELY QUADRANGULAR PART MEASURING 2 07:100 FT ON N L AND 2 85:100 FT ON S L OF LOT 2 AND ALL OF LOT 1 BLK 2	28-23-41-0069 (W2) Class 2 Commercial Class 3 Commercial Class 4 Commercial Class 7C 0073 ASL Commerci *** Owner and Taxpayer ***	9.98 7.34 1.36 2.77	0.00 212.00 63.00 62.00	\$0.00 \$1,556.08 \$85.68 \$171.74 \$1,813.50	02-28-23-41-0069
*Pending as of: 2/1/2016 740 GRAND AVENUE Michael D Killa Marlene C Killa 745 Lincoln Ave St Paul MN 55105-3306 *740 GRAND AVE *Ward: 2 *Pending as of: 2/1/2016	02-2 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA SUBJ TO PARTY WALL AGMT THE 1 910 FT OF 61 FT AND E 3.2 FT OF 5.89 FT OF LOT 2 AN ALL OF LOT 1 BLK 8	28-23-42-0073 (W2) Class 2 Commercial Class 3 Commercial Class 4 Commercial Class 7C 0073 ASL Commerci *** Owner and Taxpayer ***	9.98 7.34 1.36 2.77	62.00 150.00 62.00 62.00	\$618.76 \$1,101.00 \$84.32 \$171.74 \$1,975.82	02-28-23-42-0073
965 GRAND AVENUE Cherokee State Bank Of St Pau 607 Smith Ave S St Paul MN 55107-2617	02-2 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA LOT 18 BLK 27	28-23-31-0073 (W2) Class 2 Commercial Class 4 Commercial Class 7C 0075 ASL Commerci	9.98 1.36 2.88	40.00 40.00 40.00	\$399.20 \$54.40 \$115.20	02-28-23-31-0073

Michael D Killa Marlene C Killa 745 Lincoln Ave St Paul MN 55105-3306 *740 GRAND AVE *Ward: 2 *Pending as of: 2/1/2016	SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA SUBI TO PARTY WALL AGMT THE E 1910 FT OF N 61 FT AND E 3.2 FT OF S 89 FT OF LOT 2 AND ALL OF LOT 1 BLK 8	Class 2 Commercial Class 3 Commercial Class 4 Commercial Class 7C 0073 ASL Commerci *** Owner and Taxpayer ***	9.98 7.34 1.36 2.77	62.00 150.00 62.00 62.00	\$618.76 \$1,101.00 \$84.32 \$171.74 \$1,975.82	02-28-23-42-0073
965 GRAND AVENUE Cherokee State Bank Of St Pau 607 Smith Ave S St Paul MN 55107-2617 *965 GRAND AVE *Ward: 2 *Pending as of: 2/1/2016	02-28 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA LOT 18 BLK 27	8-23-31-0073 (W2) Class 2 Commercial Class 4 Commercial Class 7C 0075 ASL Commerci *** Owner and Taxpayer ***	9.98 1.36 2.88	40.00 40.00 40.00	\$399.20 \$54.40 \$115.20 \$568.80	02-28-23-31-0073
985 GRAND AVENUE Cherokee State Bank: 607 Smith Ave S St Paul MN 55107-2617 *985 GRAND AVE *Ward: 2 *Pending as of: 2/1/2016	02-28 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA LOT 27 & LOT 28 BLK 34	8-23-32-0140 (W2) Class 2 Commercial Class 3 Commercial Class 4 Commercial Class 7C 0075 ASL Commerci *** Owner and Taxpayer ***	9.98 7.34 1.36 2.88	100.00 150.00 100.00 250.00	\$998.00 \$1,101.00 \$136.00 \$720.00 \$2,955.00	02-28-23-32-0140
999 GRAND AVENUE Parkway Investments Llc 168 Griggs St St Paul MN 55104-6407 *999 GRAND AVE *Ward: 2 *Pending as of: 2/1/2016	02-28 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA EX W 10 FT LOT 24 AND W 30 FT OF LOT 25 BLK 34	8-23-32-0014 (W2) Class 2 Commercial Class 4 Commercial Class 7C 0075 ASL Commerci *** Owner and Taxpayer ***	9.98 1.36 2.88	60.00 60.00 60.00	\$598.80 \$81.60 \$172.80 \$853.20	02-28-23-32-0014
1036 GRAND AVENUE John M Rudolph David N Rudolph 1036 Grand Ave St Paul MN 55105-3018	02-28 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA LOT 14 BLK 35	8-23-32-0031 (W3) Class 2 Commercial Class 3 Commercial Class 4 Commercial Class 7C 0075 ASL Commerci	9.98 7.34 1.36 2.88	59.00 150.00 59.00 59.00	\$588.82 \$1,101.00 \$80.24 \$169.92	02-28-23-32-0031

*Ward: 2 *Pending as of: 2/1/2016		*** Owner and Taxpayer ***				
1036 GRAND AVENUE	02-2	28-23-32-0031 (W3)				
John M Rudolph	SUMMIT PARK ADDITION TO ST.	Class 2 Commercial	9.98	59.00	\$588.82	02-28-23-32-0031
David N Rudolph	PAUL IN RAMSEY COUNTY, MINNESOTA LOT 14 BLK 35	Class 3 Commercial	7.34	150.00	\$1,101.00	
1036 Grand Ave		Class 4 Commercial	1.36	59.00	\$80.24	
St Paul MN 55105-3018		Class 7C 0075 ASL Commerci	2.88	59.00	\$169.92	
*1036 GRAND AVE					\$1,939.98	
*Ward: 2		*** Owner and Taxpayer ***				
*Pending as of: 2/1/2016						

1342 GRAND AVENUE Grand Ham Llc 1342 Grand Ave Saint Paul MN 55105-2297 *1342 GRAND AVE *Ward: 3 *Pending as of: 2/1/2016	03-2 WANN'S ADDITION TO ST. PAUL LOT 1 BLK 2	28-23-31-0025 (W3) Class 2 Commercial Class 4 Commercial *** Owner and Taxpayer ***	9.98 1.36	195.00 45.00	\$1,946.10 \$61.20 \$2,007.30	03-28-23-31-0025
1355 GRAND AVENUE Grand Ham Lle 1342 Grand Ave Saint Paul MN 55105-2297 *1355 GRAND AVE *Ward: 3 *Pending as of: 2/1/2016	03-2 WANN'S ADDITON TO ST. PAUL LOT 25 BLK 1	8-23-31-0021 (W3) Class 2 Commercial Class 4 Commercial *** Owner and Taxpayer ***	9.98 1.36	41.00 41.00	\$409.18 \$55.76 \$464.94	03-28-23-31-0021
168 GRIGGS STREET N Triple Nine Investments Llc 168 Griggs St N St Paul MN 55104-6407 *168 GRIGGS ST N *Ward: 1 *Pending as of: 2/1/2016	ANNA E. RAMSEY'S ADDITION TO THE CITY OF ST. PAUL EX AVE LOTS 13 AND LOT 14 BLK 10	8-23-11-0143 (W1) Class 2 Commercial Class 3 Commercial *** Owner and Taxpayer ***	9.98 7.34	100.00	\$998.00 \$800.06 \$1,798.06	03-28-23-11-0143
724 HAGUE AVENUE Real Estate Investors 168 N Griggs St 87 Paul MN 55104-6407 *724 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	02-2 HOLCOMBE'S ADDITION TO SAINT PAULEX E 6 FT AND EX W 4 FT LOT 12 BLK 7	28-23-11-0225 (W1) Class 3 Residential Class 4 Residential *** Taxpayer ***	3.80 0.86	30.00	\$114.00 \$25.80 \$139.80	02-28-23-11-0225
753 HAGUE AVENUE Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *753 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	02-2 NININGER & DONNELLY'S ADDITION TO HOLCOMBE'S ADDITION TO ST. PAUL LOT 17 BLK 7	28-23-12-0129 (W1) Class 3 Residential *** Taxpayer ***	3.80	41.00	\$155.80 \$155.80	02-28-23-12-0129
William J Dunnigan Maureen A Dunnigan 168 Grigg: St N Saint Paul MN 55104-6407 *753 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	NININGER & DONNELLY'S ADDITION TO HOLCOMBE'S ADDITION TO ST. PAUL LOT 17 BLK 7	*** Owner ***				02-28-23-12-0129
754 HAGUE AVENUE Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *754 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	02-2 NININGER & DONNELLY'S ADDITION TO HOLCOMBE'S ADDITION TO ST. PAUL LOT 4 BLK 12	28-23-12-0198 (W1) Class 3 Residential *** Taxpayer ***	3.80	41.00	\$155.80 \$155.80	02-28-23-12-0198
William J Dunnigan Maureen A Dunnigan 168 Grigg: St N Saint Paul MN 55104-6407 *754 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	NINDNGER & DONNELLY'S ADDITION TO HOLCOMBE'S ADDITION TO ST. PAUL LOT 4 BLK 12	*** Owner ***				02-28-23-12-0198

758 HAGUE AVENUE Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *758 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	02-2 NININGER & DONNELLY'S ADDITION TO HOLCOMBE'S ADDITION TO ST. PAUL LOT 5 BLK 12	*** Taxpayer ***	3.80	41.00	\$155.80 \$155.80	02-28-23-12-0199
William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *758 HAGUE AVE *Ward: 1 *Pending as of: 2/1/2016	NININGER & DONNELLY'S ADDITION TO HOLCOMBE'S ADDITION TO ST. PAUL LOT 5 BLK 12	*** Owner ***				02-28-23-12-0199
1728 HAGUE AVENUE Ferdinand F Peters Gisela Peters 1708 Portland Ave St Paul MN 55104-6843 *1728 HAGUE AVE *Ward: 4 *Pending as of: 2/1/2016	04-2 SECTION 4 TOWN 28 RANGE 23 A TRACT BET HERSCHEL AVE AND E L OF LOT 1 BLK 1 EGBERT G HANDY'S ADD BOUNDED ON S BY S L OF SD LOT EXTENDED E AND ON N BY HAGUE AVE PART OF NE 1/4 OF SEC	8-23-12-0087 (W4) Class 3 Commercial *** Owner and Taxpayer ***	7.34	154.00	\$1,130.36 \$1,130.36	04-28-23-12-0087
649 HOLLY AVENUE	02-2	8-23-14-0076 (W1)				
Real Estate Investors 168 N Griggs St	HOLCOMBE'S ADDITION TO SAINT PAUL LOT 23 BLK 12	Class 3 Residential Class 4 Residential	3.80 0.86	40.00 40.00	\$152.00 \$34.40	02-28-23-14-0076
St Paul MN 55104-6407 **649 HOLLY AVE **Ward: 1 **Pending as of: 2/1/2016		* Taxpayer ***			\$186.40	
William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *649 HOLLY AVE *Ward: 1 *Pending as of: 2/1/2016	HOLCOMBE'S ADDITION TO SAINT PAUL LOT 23 BLK 12	*** Owner ***				02-28-23-14-0076
655 HOLLY AVENUE	02-2	8-23-14-0075 (W1)				
Parkway Investments Llc 168 Griggs St St Paul MN 55104-6407 *655 HOLLY AVE *Ward: 1 *Pending as of: 2/1/2016	HOLCOMBE'S ADDITION TO SAINT PAUL E 35 FT OF LOT 21 AND ALL OF LOT 22 BLK 12	Class 3 Commercial	7.34 1.36	75.00 75.00	\$550.50 \$102.00 \$652.50	02-28-23-14-0075
480 IGLEHART AVENUE Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *480 IGLEHART AVE *Ward: 1 *Pending as of: 2/1/2016	MACKUBIN AND MARSHALL'S ADDITION TO ST. PAUL LOTS 10 AND LOT 11 BLK 21	9-23-34-0046 (W1) Class 3 Residential *** Taxpayer ***	3.80	80.00	\$304.00	36-29-23-34-0046
William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *480 IGLEHART AVE *Ward: 1	MACKUBIN AND MARSHALL'S ADDITION TO ST. PAUL LOTS 10 AND LOT 11 BLK 21	*** Owner ***				36-29-23-34-0046

*Ward: 1

668 LAFOND AVENUE	35-2	9-23-11-0197 (W1)				
Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *668 LAFOND AVE *Ward: 1 *Pending as of: 2/1/2016	CHUTE BROTHERS DIVISION NO. 4 ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 12	Class 3 Residential	3.80 0.86	40.00 40.00	\$152.00 \$34.40 \$186.40	35-29-23-11-0197
William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *668 LAFOND AVE *Ward: 1 *Pending as of: 2/1/2016	CHUTE BROTHERS DIVISION NO. 4 ADDITION TO THE CITY OF ST. PAUL, MINN. LOT 12	*** Owner ***				35-29-23-11-0197
814 LAUREL AVENUE	02-2	8-23-13-0032 (W1)				
Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *814 LAUREL AVE *Ward: 1 *Pending as of: 2/1/2016	BRYANT'S ADDITION TO ST. PAUL LOT 4 BLK 1	Class 3 Residential Class 4 Residential *** Taxpayer ***	3.80 0.86	40.00	\$152.00 \$34.40 \$186.40	02-28-23-13-0032
William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *814 LAUREL AVE *Ward: 1 *Pending as of: 2/1/2016	BRYANT'S ADDITION TO ST. PAUL LOT 4BLK 1	*** Owner ***				02-28-23-13-0032
1703 LAUREL AVENUE Gisela Peters Ferdinand Peters 1708 Portland Ave St Paul MN 55104-6843 *1703 LAUREL AVE *Ward: 4 *Pending as of: 2/1/2016	04-2 SCHROEDER'S ADDITION TO THE CITY OF ST. PAUL LOT 12 BLK 5	8-23-12-0050 (W4) Class 3 Commercial *** Owner and Taxpayer ***	7.34	155.00	\$1,137.70 \$1,137.70	04-28-23-12-0050
194 LEXINGTON PARKV Parkway Investments Llc 168 Griggs St St Paul MN 55104-6454 *194 LEXINGTON PKWY N *Ward: 1 *Pending as of: 2/1/2016	WAY NORTH 02-2 ROGERS' ADDITION TO ST. PAUL SUBJ TO PEWY AND EX S 40 FT LOT 14 AND WITH ESMTS AND EX S 40 FT THE W 34 FT OF LOT 13 BLK 3	8-23-22-0069 (W1) Class 3 Commercial *** Owner and Taxpayer ***	7.34	122.00	\$895.48 \$895.48	02-28-23-22-0069
195 LEXINGTON PARKV Parkway Investments Llc 168 Griggs St St Paul MN 55104-6407 *195 LEXINGTON PKWY N *Ward: 1 *Pending as of: 2/1/2016	WAY NORTH 03-2 ANNA E. RAMSEY'S ADDITION TO THE CITY OF ST. PAUL EX PKWY LOT 1 AND ALL OF LOTS 23 AND LOT 4 BLK 8	8-23-11-0083 (W1) Class 3 Commercial *** Owner and Taxpayer ***	7.34	249.00	\$1,827.66 \$1,827.66	03-28-23-11-0083
745 LINCOLN AVENUE Michael D Killa Marlene C Killa 745 Lincoln Ave St Paul MN 55105-3348 *745 LINCOLN AVE *Ward: 2	02-2 SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY, MINNESOTA LOTS 27 AND LOT 28 BLK 8	8-23-42-0092 (W2) Class 3 Residential Class 4 Residential *** Owner and Taxpayer ***	3.80 0.86	100.00	\$380.00 \$86.00 \$466.00	02-28-23-42-0092

*Ward: 2

2330 LONG AVENUE Lakes And Plains Lle 842 Raymond Ave Ste 201 St Paul MN 55114-1521 *2330 LONG AVE *Ward: 4 *Pending as of: 2/1/2016	29-2 ST. ANTHONY PARK, MINNESOTA SUBJ TO STREET AND ALLEY; LOTS 10 & LOT 11 BLK \$1	29-23-42-0106 (W4) Class 3 Commercial *** Owner and Taxpayer ***	7.34	317.00	\$2,326.78 \$2,326.78	29-29-23-42-0106
483 MARSHALL AVENU Real Estate Investors 168 N Griggs St St Paul MN 55104-6407 *483 MARSHALL AVE *Ward: 1 *Pending as of: 2/1/2016	MACKUBIN AND MARSHALL'S ADDITION TO ST. PAUL EX W 6 FT; LOT 19 & EX E 15 FT; LOT 20 BLK 21	29-23-34-0052 (W1) Class 2 Residential *** Taxpayer ***	4.07	58.00	\$236.06 \$236.06	36-29-23-34-0052
William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *483 MARSHALL AVE *Ward: 1 *Pending as of: 2/1/2016	MACKUBIN AND MARSHALL'S ADDITION TO ST. PAUL EX W 6 FT; LOT 19 & EX E 15 FT; LOT 20 BLK 21	*** Owner ***				36-29-23-34-0052
1708 PORTLAND AVEN Ferdinand F Peters Gisela Peters 1708 Portland Ave St Paul MN 55104-6843 *1708 PORTLAND AVE *Ward: 4 *Pending as of: 2/1/2016	SCHROEDER'S ADDITION TO THE CITY OF ST. PAUL LOT 2 BLK 18	28-23-13-0053 (W4) Class 3 Residential Class 4 Residential *** Owner and Taxpayer ***	3.80 0.86	40.00 40.00	\$152.00 \$34.40 \$186.40	04-28-23-13-0053
675 RANDOLPH AVENU Cherokee Agency Inc 607 Smith Ave S St Paul MN 55107-2617 *675 RANDOLPH AVE *Ward: 2 *Pending as of: 2/1/2016	A. VANCE BROWN'S SUB. OF STINSON, BROWN & RAMSEY'S ADDITION TO ST. PAUL EX N 106 FT; LOTS 1 & 2 & ALSO ALL OF LOTS 22,23 & LOT 24 BLK 32	28-23-14-0190 (W2) Class 2 Commercial Class 3 Commercial *** Owner and Taxpayer ***	9.98 7.34	141.00 148.00	\$1,407.18 \$1,086.32 \$2,493.50	11-28-23-14-0190
682 SELBY AVENUE Triple Nine Investments Llc 168 Griggs St N St Paul MN 55104-6407 *682 SELBY AVE *Ward: 1 *Pending as of: 2/1/2016	O2-2 HOLCOMBE'S ADDITION TO SAINT PAUL WLY PART OF ST ALBANS ST VAC BET EXTENDED IN AND SLINES OF LOT 1 AND MEASURING 1.67 FT ON N LINE & 2.42 FT ON SL & LOT 1 BLK 6	28-23-11-0181 (W1) Class 3 Commercial Class 4 Commercial Class 7R 0079 ASL Residentia Class 7C 0079 ASL Commerci *** Owner and Taxpayer ***	7.34 1.36 0.27 1.35	151.00 42.00 16.67 25.00	\$1,108.34 \$57.12 \$4.50 \$33.75 \$1,203.71	02-28-23-11-0181
365 SMITH AVENUE NO William J Dunnigan Maureen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *365 SMITH AVE N *Ward: 2 *Pending as of: 2/1/2016	ORTH 01-2 SAMUEL LEECHE'S ADDITION TO THE TOWN OF SAINT PAUL LOT 4 BLK 3	28-23-41-0023 (W2) Class 2 Commercial Class 4 Commercial *** Owner and Taxpayer ***	9.98 1.36	51.00	\$508.98 \$69.36 \$578.34	01-28-23-41-0023
594 SMITH AVENUE SC Cherokee State Bank Of St Pau 607 Smith Ave S St Paul MN 55107-2617 *594 SMITH AVE S *Ward: 2 *Pending as of: 2/1/2016	OLIVIER'S ADDITION TO WEST ST.		9.98 1.63	50.00	\$499.00 \$81.50 \$580.50	07-28-22-23-0047

607 SMITH AVENUE SO	UTH 07-2	8-22-23-0086 (W2)				
Cherokee State Bank 607 Smith Ave S St Paul MN 55107-2617 *607 SMITH AVE S *Ward: 2 *Pending as of: 2/1/2016	MARION ADDITION ST. PAUL S 36 FT OF LOTS 1 THRU 4 & SUBJ TO ALLEY. LOTS 5 THRU 7 BALMES ADD AND IN SD MARION ADD LOTS 4 THRU LOT 8	Class 2 Commercial Class 3 Commercial Class 7C 0077 ASL Commerci *** Owner and Taxpayer ***	9.98 7.34 1.63	186.00 272.00 186.00	\$1,856.28 \$1,996.48 \$303.18 \$4,155.94	07-28-22-23-0086
1611 STANFORD AVENI	JE 09-2	8-23-11-0080 (W3)				
Real Estate Investors 168 N Griggs St St Paul MN 55104-6407	MACALESTER VILLAS LOT 9 BLK 6	,	3.80 0.86	40.00 40.00	\$152.00 \$34.40 \$186.40	09-28-23-11-0080
*1611 STANFORD AVE *Ward: 3 *Pending as of: 2/1/2016		*** Taxpayer ***			·	
William J Dunnigan Mawreen A Dunnigan 168 Griggs St N Saint Paul MN 55104-6407 *1611 STANFORD AVE *Ward: 3 *Pending as of: 2/1/2016	MACALESTER VILLAS LOT 9 BLK 6	*** Owner ***				09-28-23-11-0080
194 SUMMIT AVENUE Giovanni Investments Llc 622 Grand Ave Unit 101 Saint Paul MN 55105-0659 *194 SUMMIT AVE	01-2 KALMANS REARRANGEMENT OF LOTS 1, 2, 3 & 4 OF BLOCK 59 DAYTON & RVINE'S ADDITION TO ST PAUL LOT 1 BLK 59	8-23-11-0006 (W2) Class 2 Commercial *** Owner and Taxpayer ***	9.98	404.00	\$4,031.92 \$4,031.92	01-28-23-11-0006

*194 SUMMIT AVE

*Pending as of: 2/1/2016

*Ward: 2